Us(2) (mod 3)

blocks | defect matrix
G: 1 5 42 x 7
2 1 3x1

3 0 12151 = Xx46, o

4=3 0 12152 = x47, ¢10




Block 1: | o1 @2 w3 @4 ©5 @6 @7
Li=xi| 1 .
101 = x2 o1
y=x3| 1 1
TMog=xq4| 1 1 .
441 = x5 1 :
551 = Xs6 . . . 1
559 = x7 1 1 1
553 = xs 1 1 1 .
661 =x9| 1 1 1
662 =x1w0| 1 1 1 :
1101 = X11 . . . . 1
1M02=x12] 1 1 1 1
1105 = x13 1 1 1 1 .
1104 = x14 1 1
1105 = X15 . 1 . . 1
1207 = x16 1 2 1 1 .
1651 = X17 1 2 1 . 1
1761 = x18 | 1 2 LT .
2201 = x19 1 L1
2202 = X20 . 1 . . 1 1
2203 = Y21 1 2 1 1 1
2204 = X229 1 2 1 1 1 .
2641 = x23 I 1 L1
2642 = x24 I 1 L1
3201 = X25 . 1 . . 2 1
3301 = x26 1 2 1 1 1 1
3302 = Yo7 1 2 1 1 1 1 .
4401 = xo8 ) ) .1 . .1
4400 =x20 | 1 3 1 1 2 1
4403 = x30 1 3 1 1 2 1
4951 = x31 3 L3 1
4952 = X32 3 1 3 1 .
4953 = X33 L1
4954 = x34 . . . ) .11
6601 = X35 1 2 1 2 1 . 1
7041 = 36 11 1 1 1 1
7045 = 37 . 1 1 1 1 1 1
8801 = X38 1 3 1 2 2 1 1
8802 = X39 1 3 1 2 2 1 1
9901 = xa3 3 13 2 1



(Block 1:) | o1 @2 w3 @4 ©5 we @1 g; = 41121
990 =xa4| . 3 . 1 3 2 1 pa = 5h
1024y =x45| . 2 1 1 3 2 1 vs = 100,
()OG = 1101
o7 = 385,

Block 2: | pg

8911 = x40 | 1 g = 891
89y = xa1 | 1
8913 = xa2 | 1




